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1 Background and proposal

Code multiplex of multiple users onto different sub-sets of the overall HD-DSCH code resource is to be supported for HS-DSCH transmission. The assumption is that there can be up to four Shared Control Channels per cell as seen from the UE point-of-view. To determine what Shared Control Channel to decode to acquire the HS-DSCH-related downlink signaling information, the UE reads the HS-DSCH indicator (HI) carried on the associated DPCH. The current preferred approach seems to be that the HI is implemented by means of DPDCH puncturing.

Obviously, there will be cases when there will be only a single Shared Control Channel. This can especially be expected to be the case in the early phase of HS-DSCH deployment when it can be assumed that a smaller part of the overall code resource will be allocated for HS-DSCH transmission. In this case, there is obviously no need for the HI and the corresponding puncturing can be avoided. Thus, in case of a single Shared Control Channel, the UE should not use the HI to decide what Shared Control Channel to decode. Rather, the UE should always decode the single Shared Control Channel (Shared Control Channel #1).

2 Text proposal for TR 25.858

--- Begin Text proposal ---

In case of multiple (>1) Shared Control Channels, the associated downlink DPCHcarries an HS-DSCH Indicator (HI), in addition to non-HS-DSCH-related physical-layer signalling and DCH transport channels. The HI consists of two information bits that indicate the Shared Control Channel that carries the HS-DSCH-related signalling for the corresponding UE. The HI is transmitted in every third slot. If no Shared Control Channel carries HS-DSCH-related signalling to the UE, the HI is not transmitted (DTX). As an example, if the HI is transmitted as one QPSK symbol, the possible signalling points are as in Figure 1.


[image: image1.wmf]P

1

 (+1 +1)

P

2

 (-1 +1)

P

3

 (+1 –1)

P

4

 (-1 –1)

P

0

 (0 

0)


Figure 1. Example of coding of HI. 
Pi indicates Shared Control Channel #i (i ({1, 2, 3, 4}). P0 indicates that no Shared Control Channel 
carries HS-DSCH-related signaling information to the UE. 

--- End Text proposal ---
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